Online EuPh0-2020

Experimental Problems. Language: English
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Beam accelerating voltage in V:
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x-coordinate of the electron beam in cm:
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y-coordinate of the electron beam in cm:
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Invalid entry.
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Electron beam fired with parameters (x, Y, V) =
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Electron not detected...

Ry u:{bj\) (_gﬁsj_ﬂi» Llg o Wy 5,a d)\ﬁwﬁnﬂubj.

obow dnr 2

wdae 2.1

el e b Sb Kl 8 ol S o sl 4 S
Sk G bar 09 NE B Kl mapa LK OB ol
Sobma @3y ) my e 4 R ay oSl 043 Ol e e
35Kty Caslis a8 K vl 0 Ol Ko S L s prm Oak o
S L il ey IS o)l $oa plel o 4 § ls S8

Wl g = 9.81m/s? Jldis 4 5 4w gla

= ko

E

oF Gl Y cul b okt e o 8 0 8 A L0l ) e
il 2 (m/S? e ) Ol (41 e )

4ol oS sl 6l & Qs (81 0b)) did s s ol 4t
@)ﬁ&j/dlﬁ)a\ﬁhbJ{A@\\)k#dfl}'Féﬁﬁ)bw
33) Mbj).\&})} \) o ‘_gj\'f oj\g\ﬂ A\.'\G\Ma ‘_;)Lw 47).:4 By (2
O3p lr OLS gl Ll 2 L s (g3l ol vy 0 CuSS LB S
.,\SJ..ZL;@J,.:LA

Sle b s o)l 5 So 8 Bolas sllas K 6 68 oIl s e
J)}ébd}ﬁgub\c&fﬁjbjéﬁ&;wggbﬁﬁ
g_;?’-){‘_;upﬁs\juﬁ@ﬂé\J)Jk2}klilw ..\Z\LSE;;-J;.':
)F(_;)Jj -.&\oﬁu&ﬁ@\;b{tés}wdﬁw%&:j)é
3 e 5 Sl 0.6 dir 4 Job o) 0l Gy e VU e 4 Ol
5 a5 e 4 Gl vl @857 15 3m glisy) y b5 s s
b wys 5 K a b asl wdls sy, GUl oS ol b aer § iy
S e sk g bl S sy S SKw banr ¢

oGl Sy



Online EuPh0-2020

Experimental Problems. Language: English

aby, 2.2

‘_;)L,, ko ky ,ms ,mo ,MM7 RGOWIIRTY j{ﬂbt.:' (sLE QJ; B (P 4.5.:14'}
1S 80 s 5IUT éLﬂT ) Gy S

Gl ls s s osls Lasede gls Olgie | Jylar Al L ccolitile ] 4 aliee

LSJ.‘T%MLMB“\?‘{“;\)\ d}:w‘YfJQ‘)\ dgjgb'u) 5\))\.) db&
.4\:.\ cJ)}T;:,»wJ @))h:’-lié: b éL‘LJ .4\:_\ 4:9; O}\w\s‘ \)

ls |y OUG) o) W aasl s (2 (3950 Al SO 51l ) s

sls! ol Lg;{.)\ 4 dop S busy |y return 5 LS 540y sde 5>
0.4- 1.5 Mz 1S

03 20 5 (4L (0.018 3 (g 0o AL) 46 4 do s Obey Ode Jyl s
(+42L 30 b5 30- (g wb) vl /8% s A ) Ol2

Iy € b asy |y return 5 1S 550, i K s Ay )y repeat
repeat 10 Sis v S LIS

D5 s IS K dal s 8§ aal Glbs sl &l = o
(st 1 cal) o O & endrepeat b b IS

f\ das OLL 1y o kisd IS0 by j s acy# b5 U8 5,40y | endrepeat
sldss 4 endrepeat , repeat (p Ol CLE LS okl u’;{bj
IR K Jala ty Gl wily W wipd g IS el Laskie Olabs
~J~.~5J‘ﬁ';ﬁ

Goloxeals by by |, return 5 187 5))y sde Kol @ 4 |y sample
sample 0.4 Mo dps a1y

xS o3l 2 8 ol Gl £ azl dde (48 0305 Ol gl s )
§ 250 0.018 31 (g o Gl 0oy &) wdns (2 ot o BB 4 A
Wl (2t 68 03I Oley Cpamd

Y I P e ol d15 b oS 5,15 1, begin

b return gy Lt 50 1 E ok ils o et

I}tﬁ ~Jj:~ \‘f-\

begin endrepeat 0.4- 1.5 0.4 1.5 10 repeat 0.4 sample
U635 00d- 5 004 Okt by das 5 i 004 4 |y (o)lo, 0005 Obey &

s 2 0S|y das

G S il 1y L ls gl ) AT 5l el e 5

S Olel o)l sl g

A2l o3y 3l o)le e i

range. of out is Acceleration

wrl e3gu2 ) sl Gley o3k §)

range. of out is Duration

A3 ea e 5l C)\A S wy C)b}f\

range. of out is time Sampling

Al e35u2 ) )l s SIS sl 5

range. of out is times repeat of Number

LS sl 0 IS S 511 K0 Jols 4l £
repeat. another inside actions repeat Cannot

LS5 a1y LIS OLL Ll S oslinal LI5S 31§
repeat. outside repeat end Cannot

PV

entry. Invalid

GaA M Sl ol Sl sl S g )05 1, begin § 005 aw

.u\w“‘z'(j

use should You .(results”™ (e.g. file output for name Enter

not are characters special some because numbers and letters Latin
allowed.

5 oY oy ) s 2 sliiy i |y return LS 5l (‘w‘ Y

g3 le (o8 o3l vl Gl ol S s oy v enlizad sl

gt ops edd 03ls ol Lot b S

e (2 OlE Ty e O aeliy ey ) dm

Begin experiment.
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